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(1) 108z—+(—9)=—12z
@) —13+(—8) =—(13+8)
=-21
(5) (5—2x)+(3xz—6)=5—22x+3x—6
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(15) 3X(=9)—16+(—2)=—27—(-8)
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(17) 072 +01=-2
(0.72 +0.1)x10=—2x 10
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2) (—=8)X1lda = —112a
4) (—=56)+(+4)=—(56+14)
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_9-6-5
_ 9
@)6+5x(—un=6x%»q—4m
1
_—<6x§x10>
— 12
10) (ma—2®+3=1“§24
15¢ [ 24
—T+<‘§>
=ba — 8
2 _3 41571
12) 5 -5 +(=00=15"70"10
__ 18
T
__9
=77
1 1
(14) —(8e—4)~3(9z—3)=de 23 +1
=xr—1
(16) (—29)—(—14)=—29+ 14

=—15

(18) %w+5=%x+3ﬁmtﬁ%ﬁwrc

3z+30=x+18
3r—2z=18-30
2x=—12
x=—6
200 —3z+4+7=-5
—3x=-5-7
—3x=-12
x=4
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